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Answer all the questions.
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g ‘@ (Group 'A") [3x(1+1)=6]
afs FF S (RS TEE P T A Ssern 3fga R% s¢ & s5d
T avufgar SEer Fd §g ? deferd |

If initial population of any place is P, and the annual rate of population
growth is R%, then what is the population of that place after T years?
Write it.

YT OEEH A9 'q' H, LI SS9 7§, R gIer qwigarg
Pt &he dETery |

Write the area of an isosceles triangle having length of equal sides 'q'
cm and third side 'r' cm.

(&) (6x)° F A FAT &g ? A€o |
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What is the value of (6x)°? Write it.

sfafegr Sofiadr qeaTesars der 25% AT fase T SqEtaer
AT |

Write the name of the quartile which divides the continuous data below
25%.

T3¢ AU AB T I8 AR W@ie® AB T CD = Sfrear @t T Pt
SRS H FFavY ACTRIH |

Write down the relation between the area of a square and a triangle

standing on the same base AB and between the same parallel lines
AB and CD.

THR TR THHE BTGRP GFaed AeTard |
Identify the relation between the opposite angles of a cyclic
quadrilateral.
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g ‘@ (Group 'B') [4x(2+2)+3x(2+2+2)=34]
. 3000 U TIT AT 13% T SAalg FT AT AY AHIFEH e Hl
Tg ? T ISR |
What is the price of an article costing Rs.3000 after levying 13% Value
Added Tax? Find it.

TSl U@ B T &, 20,00,000 T | A F9H g5 qierad 10% o ved
g 9 FT a¥ IRg T9H {A . 14,58,000 875 ? IAT SR |
The present price of a house is Rs.20,00,000. After how many years

the price will be Rs. 14,58,000 if its price reduces by 10% per annum?
Find it?

feguat faawT AEFG &1 &9l I FST8I | 15c/ \8cm

Find the area of AEFG in the given figure. Y/ \é
F «——7cm—>

gfy Ier el sEad 144n uv . wu gger sfeyr www

SR |

If the volume of a hemisphere is 1447 cubic cm., Z

then find its radius.
X Y

it ferm Rowant smaTa qaeeea fawd 720 @t l
a1, XX'=20 .. TXY:XZ:YZ=5:3:4 XY 20 ,,
P TG I AMSTI | | ,
In the adjoining figure, the area of the rectangular X Y

surfaces of the prism is 720 sq. cm., XX' =20 cm. and XY:XZ:YZ =
5:3:4, find the length of XY.

guTfoTa TR | (Prove that) : 27 -;2 =1.
3x

EH AT i (Rationalize the denominator of ) : j——— hi :

.9, gt aSerq, (Find the L.C.M. of) : )2 - 2%, (y - z)?
&t TR (Solve) : 4/y—1=31 . ‘
FEIIST FANIG AR F&ATeed! ANThel 30 9T ft G&dTe T aSard |

Find the two consecutive even numbers whose sum is 30.
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ZPTQ=90°, PT = 8 3.1, T JPQRS & &aeet 8 I
80 a7 .. g W QT &I F¥aTg Tl AMSRI | A
In the given figure PQRS is a parallelogram. If Q
ZPTQ=90° PT = 8 cm and the area of [/PQRS
is 80 sq. cm, find the length of QT.

et feerar O gaat Ffeg & | I LPQR=5a° X
ZPRQ = 42° 9T /PSR &I A7 T RS |
In the given figure, O is the centre of the circle. If
ZPQR=5a° and £ZPRQ=4a°, find the value of
ZPSR.

feguat femm O gt @wsfawg &1 | PAT PB gl
3¢ wreiEreT g1 afs LZAPB=80° 97 LAOB &
A eI |

In the given figure O is the centre of the circle
and PA and PB are two tangents of the circle. If
ZAPB=80°, find the value of ZAOB.

AABCHT AB=63.41. T AC=8 3.9 &1 ak AABC & &7w%eT 1243
ait &1, T LBAC & A farea g |

In AABC, AB= 6 cm and AC = 8cm. If the area of AABC is 1243
sq. cm, find the value of ZBAC.

T wfafge Afrr 36 Rremdfiewa stea der 75 f.am. T Riefeeer derer
aTRe (X fim) 6000 fe. 3. G 9w feamfiewat den feee)
In a continuous series the average weight of some students is 75 kg

and the sum of their weights (2-fm) is 6000 kg. Find the number of
students.

AR TS STEHATE IFAAT T AT THAAT T Fapredrd SH=AT 97 ST
foreiR s ¥ FaaapraT SRIT O qeTeaaT ol aTSere |

If a dice is rolled and a coin is tossed at the same time, find the
probability of getting odd number on the dice and head on the coin.

SHT:
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Two cards are drawn randomly in succession without replacement
from a well shuffled deck of 52 cards. Present the probabilities of all
the possible outcomes of getting and not getting a jack card in a tree
diagram.

g T (Group 'C") [10x4=40]

wmmaﬁwﬁamﬁm 80% YTeAT ITHT 9, 75% fermmerar Seiof
T, 5% g ferearm srgefivl g T 300 ST feramefie® g ferver Sefivl st T
T,

Out of students appeared in an examination, 80% passed in Nepali, 75%
passed in science, 5% failed in both subjects and 300 of them were passed
in both the subjects then,

i) iR TS S PerT S TR

draw a venn-diagram to illustrate the above information.

ii) T wftwfaa framfiees der wor aeTER |

find the number of students appeared in the examination.

iii) fersmrerar wrx Sfivf feramdt weam qm eTREL

find the number of students who passed only in science.

T ST Auren framfie £1 =% 140 @ & %.7,00,000 F RIS Wi
qTE | gERT aRg ATt TE 5% o AT A T IH R I WP A=_UE IH:
AT TETAT WTEET IJATS BT ATH AT AT AT ST 7 T AMSTare |

A Nepali student exchanged Rs. 7,00,000 into pound sterling at the rate of
£1 =Rs. 140. After two days Nepali currency is devaluated by 5% and he
exchanged the pountds he had into Nepali currency again in that day.
What is his gain or loss? Find it.

feguan fa Ao T Aeft freR TR le—— 45cm ——»|

e 3 e 1 | 4 g o |
Y 14 4.1, IAAMHR ATH T+ 1

45 .. T Hrelt TR dvars 24 A1
| I 3G aKH U qdeH §AB Il TSR |

The given figure is a combined solid made up of a cylinder and a cone.
The diameter of the base of the object is 14 cm., length of the cylindrical
part is 45 cm. and the length of the conical part is 24 cm. Find the total
surface area of that solid object. FT:
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7.9. ateg (Find the H.C.F of) :
m*+8m?n?, 3m*+ m’n - 10m?n? and m’+4m?n + 4mn?
T TR (Simplify) :
1 1 2c

l-c+c? —1+c+c2 —l—c2+c4
frgwat feomr, WZ|IXU, WV[IXY T WX||ZY & 5 2 Uy

. > Y
| | W
i) AWZV = AXUY X 4

i) €.9. ZWXU & &7%d =q.9. WXYV & &6

In the given figure, WZ||XU, WV||XY and WX||ZY. Prove that:

i) AWZV = AXUY

ii) Area of parallelogram ZWXU = Area of parallelogram WXYV
I BEST &1 AT T AT BE=BT=4.23#1. ES=ST=5.23.4.
T /BES=75° B | I& T &AHTHT T g1 T4 Tger ABER &t uf
TIAT TR

Construct a quadrilateral BEST in which BE =BT =4.2 cm, ES=ST =
5.2 cm and ZBES=75°. Also construct a ABER equal in area to the
quadrilateral BEST.

qeT T3¢ AT SN AT AT S0 B SON ufifr 1 SUN & 31k 75
Wit wEvTETa fag TR (@RI 3 4.1, srdem e gEeiier e Aadd
)

Verify experimentally that the centre angle SON is double of the

circumference angle SUN standing on the same arc SN of a circle. (Two
circles having radii at least 3 cm are necessary)

Tger AfRY T @@ U w15 e T 5 Frex g afk qeer witvea
AfveTa GATATE TP TWUHT B-F AT BT 60° qTgar W AF<RT T T@erant
T I AT |

The height of a temple and a tree are 15 m and 5 m respectively. If a man

observes the top of the tree from the roof of the temple and he found the angle
of depression to be 60°, find the distance between the temple and the tree.

ao feguar qeiFare Ak T SIS TE |

Find the median from the data given below.

yrwdte (Marks) 0-10 | 10-20 | 20-30 | 30-40 | 40-50

FIFERar (Frequency) 4 8 5 7 6

SHET:
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E ‘9’ (Group 'D") [4x5=20]

UaSAT Afthel Sge P AT 2 ae A1fT & 80,000 ATE 10% T3 =T 9194
T ST TG | X A T Y g gl At TR T4 WY ST snefaties
T = g fofa g 1 ofeet af T E ada e AT o ghoeaa
e T ? feare T FRT AETe |

A person deposited Rs. 80,000 in bank 'P' for 2 years at the rate of 10%

. annual compound interest. But after one year bank has changed the policy

R

R

RY.

and decided to pay semi-annual compound interest at the same rate. What
is the percentage difference between compound interests of the first year
and second year? Give reason with calculation.

T3 TrOrATH AIHT 8 fwme wver gEaiar feazgeAify It
T AT qaE fad 4 fee IuTE 9u U@ wasiter Rfireee iaga
1 TS Rrerar AR 6 fre x 6 e g 1 it Saa Rrafheafeast fereen
iy ot ffe & 80 &1 3T T AL AT Sl @ TG ? Il AMSTRIY |
Two pillars of height 8 feet each with four faces shown of the gate of a
stadium have one-one pyramid of height 4 feet each having same base on
their tops. The base of each pillar is 6 ft x 6 ft. If the pillars with pyramid
are painted at the rate of Rs. 80 per square feet, what will be the total
cost? Find it.

TSl ATAATHIT ST Gaher 500 ot firax T ufiffer 90 fre &1 S st
T SIS AFaTE SIaT ASTEATs Hia Jraeas versy g T feT 2w
TSR |

The area of a rectangular land is 500 sq. metre and perimeter is 90 metre.

Out of length or breadth which one is to be decreased by what percentage
to make it a square? Why? Find it.

forge® M, N, O TP 99 G| 81 =19 MN = =17 PO G| afX sfaree MO
T NP fag T 91 SRA=gie 90 g 97 AT Ter |

i) AMNT &t &% = APOT &I &9%e

i) Sfar MO = sftar NP.

Points M, N, O and P are concyclic such that arc MN = arc PO. If the
chords MO and NP are intersected at a point T, then prove that:

i) Area of AMNT = Area of APOT.

ii) chord MO = chord NP.
o8



